New gzuzy Semi-Conductor .(p'wclucts, Dhe.

20 STERN AVE. TELEPHONE: (201) 376-2922
SPRINGFIELD, NEW JERSEY 07081 (212) 227-6005

US.A. 2N3700+2N3701 FAX: (201) 3768960
NPN SMALL SIGNAL GENERAL PURPOSE AMPLIFIERS

TO-18

¢ Vego...80V (MIN} @ 30 mA
* VCE{sat) - - 0.8V (MAXI® 600 mA

ABSOLUTE MAXIMUM RATINGS
Maximum Temperatures

Storage Temperature —85"C to +200°C
Operating Junction Temparature 200°C
Lead Temperature (60 seconds) 300°C
Maximum Power Dissipation
Total Dissipetion at 25°C Case Temperature 1.8W
at 100°C Case Temperature tow
8t 25" C Ambient Temperature os5wW
Maximum Voltages and Current
Vego  Collector to Base Voltaga 140V
Veeo  Collector to Emitter Voltage 80 Vv
Vero Emitter 10 Base Valtage V3V 4
: Coptlarzteyr Surant 1.0A

-

ELECTRICAL CHARACTERISTICS (25" C Ambient Temperature uniess otherwise noted)

SYMBOL CHARACTERISTIC e e | uniTs TEST CONDITIONS
heg DC Puise Current Gain (Note 8) 100 300 40 120 Ic =150 mA, Vcg =10V
90 4 120 tc=10mA, Vg = 10V
50 0 100 Ic = 0.1 mA, VgEz== 10V
50 3 100 lc =600 mA, Vo =10 V
18 15 Ic=10A,Vcg=10V
40 Ig= 150 mA, Vog = 10V, Tp = -565°C
VgE (sat) Pulsad Base Saturation Voltage 1.1 1.1 3 Ic=150mA,Ig =15 mA
VCE (sat} Pulsed Collector Saturstion 0.2 0.2 v Ic =150 mA, Ig =16 mA
Voltage (Note 5} 05 08 A\ lc=500mA, ig=~50mA
hie High Frequency Current Gain 5.0 10 40 10 Ic=50 mA, Veg = 10V, f = 20 MHz
hte Smalt Signal Current Gain B0 400 30 200 Ic*1.0mA, Vg =60V, f=10kHz2
Cob Output Capacitance 12 12| pF Ig=0,Vpg=10V,f=10MHz
Cin Input Capacitance 60 60 pF iIc=0,VEg“05V,f=1.0MHz
h'Ce Coltector to Base Time Constant 25 400 25 400 ps Ic=10mA, Ve =10V, f=4.0 MHz
lcso Collector Cutoff Current 10 101 nA lIg=0,Vcp=90V
10 10 WA IE=0,Vcp =90V, Ta = 160°C
F--Te} Emitter Cutoff Current 10 10 nA Ic=0,Vgp=50V
BVeso Collactor to Base Breakdown 140 140 v le=100uA, lg=0
Voitage
VCEOQ(tus) | Collectar to Emitter Sustaining 80 80 v lc=30mA,ig=0
Voltage (Notes 4 & 6)
B8VERD Emitter to Base Breakdown Voltage 7.0 70 \' lc=0,lg =100 uA

40 d8 | Ic=100uA, VgE = 10V, f = 1.0 kHz,

NE Noise Figure
ARG = 1.0 k2




